&_/; ’ 4 - -
</ WJ, l @72(&{/7 ‘%g/cx:éﬁ é/?’(/;}?/é(/ ) / Q/LJ/

)~
k{/ '~éx*~§" = jx "(;2}
- 2, +3
) ~3u+t92-7 — :
3 QW@&@,L@ ! -
— 3w = ”,.,i(f—

4 @@ww M)

5 WLZZM/ ANy

| @) 3 Jf,sc»@ ~10 = %Cw‘o’l

3,28 %t
© (54) Fote axt o = 1K
.17 2 te = 0T

|1 e o "

Iy —l = 7

O sop AFT o ey

& Y 3x = 3

,,,%»- 3

Y — &

e @ ]
U= zité@tc35
2N T /6
BRI G
[ A >4
- b



>t Cjﬁ As K;L T 1 2 N

{;L w_&__ +Z — _,L, Jﬁc’/?'\/ + ) 4G ‘:»"O;ﬁ/x + 3.85
- v +0O ,4¥ + 0ty

“t ,
i _ [ > i; . —
%,C‘fﬂ ./ _03x 15 = 3,95
| s =T

— L — ﬁO;BX = g,?‘&

{
S -V
2 e O
TN B
= X <= 9.0

iff“@g' — /5P ~15N

| B 30t < -9

@ .3 x ‘”62’67 = 0,6y~ | 22 — (o -
_ 0o ¥ ~0.bx 5%@ = :%{P/




@ X e wa)% {){ﬂ;) ';5?0




439 = X+ Xt /73
439 = Ax +153

33 ~133
306 = ¥
== 2
53~ I 723 :
Kéﬂw@www -5 TP
DI , ‘ . -2
\ 7 NG P 7%'( ' 5 /ZE =
| , o /‘Cf’ "c/
ﬁ'ﬂ??‘f:: 12, s 3 (
- ()~ (>
fap= ¥ - { 80 6[55 [ A Al
Xty (H120 = T F%g_ “

— 2o —TTO

@ P= 2L rod

196 =R(Wf) 520
(9 =20 F#8 20
/9@::¢wf45 ,

oz - ¥& ¢/
g s aw Y
= 4

& & 37

7 =W [ =6/ (96

[ edY -
) +2¥
Ly



ﬁ Ar br C

- f‘ —LS r _) ..5
bw
p P Z/’gw

T5E8SO
’ S
| (95— T3
SP =

. /565D
frece
Sele

/ D - / 5’ (’ )
@%



3
Foats (-
4770 = W

S P = 8500 ~¥7.70
Sute fecee = 2. 30

&) X (e (e9)= 0325

) { @CD
x = 7465

fid

3T »@
X‘_? = (/()D»/a)o
/87 = .35
%y L85

K 2590557
oy, 497 =1 *
105750 14"

/2579

P2 s R
/36250 &ffﬂ



